12th Grade Gov’t/Econ




Name __________________

Ms. O’Hern

UNIT 1 REVIEW PACKET

Complete the following questions to help prepare for your Unit 1 test. HOWEVER: you are responsible for all the information covered in Unit 1, so make sure to study your study guides, class notes, and PBL log books in order to thoroughly review for this exam!
What are the 3 questions every type of economy must answer?

____________________________________________________________________________________________________________________________________________________________
What is the fundamental economic problem? Explain.

____________________________________________________________________________________________________________________________________________________________
Explain TINSTAAFL

____________________________________________________________________________________________________________________________________________________________
Define command economy, market economy, and traditional economy, and give 1 advantage and 1 disadvantage for each.

____________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________
Define the Law of Supply:

____________________________________________________________________________________________________________________________________________________________
Define the Law of Demand:

____________________________________________________________________________________________________________________________________________________________
Identify the 7 economic goals everyone can agree on, and give an example of each.

____________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________
Define opportunity cost:

____________________________________________________________________________________________________________________________________________________________
Give an example of opportunity cost:

____________________________________________________________________________________________________________________________________________________________
What is a PPF graph?

____________________________________________________________________________________________________________________________________________________________
Why is a PPF graph called a PPF graph?

____________________________________________________________________________________________________________________________________________________________
If a country is operating within the PPF curve, it is:

____________________________________________________________________________________________________________________________________________________________
If the country is operating on the PPF curve, it is:

________________________________________________________________________________________________________________________________________________
PPF Graph:
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	


a) What is the opportunity cost of going from pt. A to pt. B? ____________

b) What is the opportunity cost of going from pt. B to pt. A? ____________

c) What is the opportunity cost of going from pt. C to pt A? ____________

d) If a country is operating at pt. C, it is operating ____________________

e) If a country is operating at pt. D, it is operating ____________________

f) If a country is operating at pt. E, it is operating ____________________

Supply and Demand curves. 
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	


a. Label the demand curve on the graph above by labeling it with a D.  

b. Label the supply curve on the graph above by labeling it with an S.  

c. What is the equilibrium price of this product? ___________________________

d. Is the good elastic or inelastic? How do you know? _______________________

e. Define elasticity. What makes a good elastic or inelastic? ___________________

f. Give an example of an elastic good. ___________________________________

g. Give an example of an inelastic good. _________________________________
Price ceilings lead to: ___________________________________________________________
Why? _______________________________________________________________________
Price floors lead to: ____________________________________________________________
Why? _______________________________________________________________________
If the price were set at $2, what would occur in the market? Why? _______________________

_____________________________________________________________________________

If the price were set at $10, what would occur in the market? Why? 

Define horizontal merger, and give an example of it.

____________________________________________________________________________________________________________________________________________________________
Define vertical merger, and give an example of it.

____________________________________________________________________________________________________________________________________________________________
Define substitute, and give an example of one pair of substitutes.

____________________________________________________________________________________________________________________________________________________________
Define complement, and give an example of one pair of complements.

____________________________________________________________________________________________________________________________________________________________
Multiple Choice Practice

1. _____In general, a high price of a good sends the signal for 
a. producers to offer more goods for sale and consumers to buy less

b. producers to offer more goods for sale and consumers to buy more

c. producers to offer less goods for sale and consumers to buy less

d. producers to offer less goods for sale and consumers to buy more
2. _____ If the price of beef is above the equilibrium price, which of the following is a TRUE statement?

a. There will be a surplus of beef, and the price of beef will fall.

b. There will be a surplus of beef, and the price of beef will increase.

c. There will be a shortage of beef, and the price of beef will fall.

d. There will be a shortage of beef, and the price of beef will increase.

3. ________Many city governments impose rent controls on apartment owners, keeping the price of an apartment below the equilibrium price. Which of the following will result from the policy of rent control?

a. A surplus of apartments

b. A shortage of apartments

c. A decrease in the demand for apartments

d. An increase in the supply of apartments
Consider an economy where growth has been taking place because of a reduction in the rate of unemployment. How would you illustrate this using a PPF diagram? 

[image: image1.wmf]A) By a rightward shift in the PPF.
[image: image2.wmf]B) By a point outside the PPF.
[image: image3.wmf]C) By a point inside the PPF.
[image: image4.wmf]E) By a point on the PPF, but moving along it.
If the price of bananas increases, the: 

[image: image5.wmf]A) demand curve for bananas will shift to the right.
[image: image6.wmf]B) demand curve for bananas will shift to the left.
[image: image7.wmf]C) effect on the demand curve will be uncertain.
[image: image8.wmf]D) quantity of bananas demanded will decrease, but there will be no change in the position of the demand curve.
The industry supply curve will likely shift to the left if: 

[image: image9.wmf]A) costs of production increase.
[image: image10.wmf]B) the government places a quantity tax on the commodity.
[image: image11.wmf]C) the number of firms in the industry increases.
[image: image12.wmf]D) all of the above.
The price of margarine increases, but the quantity of margarine sold has increased. Which of the following could explain this change? 
[image: image13.wmf]A) The price of butter--a substitute for margarine--has increased.
[image: image14.wmf]B) The demand for margarine has shifted to the left.
[image: image15.wmf]C) The supply of margarine has shifted to the right.
[image: image16.wmf]D) The supply of margarine has shifted to the left.
In one day Jean can pick 5 buckets of apples, or she can bake 10 loaves. The opportunity cost to Jean of 1 bucket of apples is 
[image: image17.wmf]A) 1 loaf of bread.
[image: image18.wmf]B) 1/2 a loaf of bread.
[image: image19.wmf]C) 2 loaves of bread.
[image: image20.wmf]D) 5 loaves of bread.
[image: image21.wmf]E) 10 loaves of bread.
Jean goes to a candy store.  She has enough money to buy a pound of jelly beans or one stick of a somewhat strange looking European candy.  She chooses to buy a pound of jelly beans.  We know that: 
[image: image22.wmf]A) Jean's opportunity cost of buying the jelly beans is zero, since she does not really like European candy.
[image: image23.wmf]B) Jean's opportunity cost of buying the jelly beans is not being able to have the European candy.
[image: image24.wmf]C) Jean is irrational for not choosing the hard-to-get European candy.
[image: image25.wmf]D) Jean does not like the European candy.
[image: image26.wmf]E) Jelly beans are Jean's favorite form of candy.

"There is no such thing as a free-lunch." This statement implies that 

[image: image27.wmf]A) resources are scarce.
[image: image28.wmf]B) you will always have to pay for lunch.
[image: image29.wmf]C) markets are inefficient.
[image: image30.wmf]D) resources are plentiful.
[image: image31.wmf]E) none of the above.
Circle the Correct Answer Choice

1. The price at which there is neither surplus nor shortage is called:

 the adjustment price.

 the equal price.

 the fair price.

 the market-clearing price.

 2. Suppose that there has been a decline in the price of pork. What effect will this have on the market for beef?

 It will decrease demand and decrease supply.

 It will decrease demand and decrease quantity supplied.

 It will decrease quantity demanded and decrease supply.

 It will decrease quantity demanded and decrease quantity supplied.

 3. Which of the following will move the demand curve for pork to the right?

 A reduction in the cost of corn that is used to feed pigs

 A reduction in the price of pork

 An increase in the price of beef

 All of the above

 4. If both the demand curve and supply curve move to the left, we can predict:

 price will fall, but we cannot predict quantity.

 price will rise, but we cannot predict quantity.

 quantity will rise, but we cannot predict price.

 quantity will fall, but we cannot predict price.

 5. Which of the following provides an example of complementary goods?

 Pepsi and Coca-Cola

 French fries and catsup

 Milk and orange juice

 Beef and pork

6. If shoe-repair services are an inferior good, then:

 if people's incomes go up, they spend less for shoe repair.

 if the price of shoe repair falls, people want less of it.

 people will only want shoe repair services if they are deceived by advertising.

 people do not base their decisions to buy shoe repairs on costs-benefit reasoning.

 7. An increase in the price of chicken feed shifts the supply curve for eggs to the left and moves buyers along the demand curve. In the jargon of economics, we have had a change in:

 supply and a change in quantity demanded.

 supply and a change in demand.

 quantity supplied and a change in quantity demanded.

 quantity supplied and a change in demand.

 8. Suppose that both the price of gasoline and the amount of gasoline sold decline. Which of the following would account for this?

 A shift left of the demand curve, but no change in the supply curve

 A shift right of the demand curve, but no change in the supply curve

 A shift left of the supply curve, but no change in the demand curve

 A shift right of the supply curve, but no change in the demand curve
_1378128593.unknown

_1378128597.unknown

_1378128599.unknown

_1378128600.unknown

_1378128598.unknown

_1378128595.unknown

_1378128596.unknown

_1378128594.unknown

_1378128585.unknown

_1378128589.unknown

_1378128591.unknown

_1378128592.unknown

_1378128590.unknown

_1378128587.unknown

_1378128588.unknown

_1378128586.unknown

_1378128581.unknown

_1378128583.unknown

_1378128584.unknown

_1378128582.unknown

_1378128577.unknown

_1378128579.unknown

_1378128580.unknown

_1378128578.unknown

_1378128575.unknown

_1378128576.unknown

_1378128573.unknown

_1378128574.unknown

_1378128571.unknown

_1378128572.unknown

_1378128570.unknown

